Sadie, a bear at the zoo, weighs 182 kilograms. Her
cub weighs 74 kilograms.

qa.

Estimate the total weight of Sadie and her cub using whatever
method you think best. Hint: round to the nearest ten.

What is the actual weight of Sadie and her cub? Use the standard
algorithm.
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Insert a picture of your work. It should include:
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Standard algorithm using the place value chart
Regrouping
Rounding to estimate the sum
Correct unit of measurement (
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Self-Assessment Checklist
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I estimated the sum by rounding to .
+ n

1 found the actual sum by using the

standard algor

ithm

I included the unit of measurement for

each answer

I completed all parts (a & b) of the |

problem ¥
CATEGORY 4 3 2 1
Mathematical Studenta\’ work Studeanta\” work Students\” work Studenta\' work
Concepts BHoWES Com, shows substantial shows some shows very limited
understanding of understanding of understanding of understanding of
both estimating and | both estimating and | both estimating and |both estimating and
finding the axact finding the axact finding the axact finding the exact
sum of bwa sum of two sum of two sum of two
mesasurermenis. measursments. measuremeants. measuremanis OR
in not attermpted.
Strategy/Procedures |Student cormecily Student Student implemeants | Student does not

implements a place
value chart and
regroups
successiully when
using the standard

algorithm for
addition. Student
successiully
estimates the sum
of two
measuraments by
rounding. Student
identifies the

implements a place
wvalue chart and
rMegroups
successiully when
using the standard
algorithmm for
addition. Student
does not
successfully round
to find the
astimated sum.
Student identifies
the correct unit of
measurament.

a place value chart
when using the
standard algorithim
for addition.
Studeant attempis
regrouping. Student
attempls (o round
numbers to find the
estimated sum.
Student does not
idantify units of
measuremeant.

use a place valuo
chart to solve.
Studeant attempls
regrouping.
Student attempis o
round numbers to
find the estimated
sum. Student doos
not identify units of
measurement.

Completion

Student com pleles
both parts of the
problem (a and b)
independently.

Student completes
most of the

problem
indepandontiy.

Student completes
some of the
problem
indepandanthy.

Studen! stars the
problem and doas
not finish OR doas
not complete the
problam
indepandantly.

Accuracy

Student sobves all
parts of the
problem correctly.

Studen! solves
most of the
problem correctly.

Student completes
some of the
problem correctiy.

Studen! doas nolt
answer any parts of
the problem
correctly, without
assistanco.




